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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-III « EXAMINATION - WINTER ¢ 2014

Subject Code: 3332902 Date: 29-11-2014
Subject Name: Yarn Manufacturing Technology - 11
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Answer any seven out of ten.

Define drafting waves.

List different types of top roller weighting systems.

Define combing efficiency.

Give the range of hank values for sliver and comber lap.
State the objects of super lap former.

Write the function of auto leveler.

State the objects of speed frame.

Draw a neat sketch of flyer and name its parts.

List different modern drafting systems used on speed frame.
Calculate roving hank if sliver hank is 0.125 and draft on speed frame is 12.
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Draw the passage of material on draw frame.

OR
(@) Draw neat sketch of 3 over 3 pressure bar drafting system.
(b) Explain in brief electrical stop motion on draw frame.

OR
(b) State the advantages of power driven creel and automatic doffing on draw
frame.
(c) Explain the principle of drafting and doubling.
OR

(c) Explain any one type of auto leveler with its merits and demerits.
(d) Write short note on “Design changes in modern draw frame”.
OR
(d) Calculate the production of draw frame in kg/shift from the following data:
Delivery speed = 350 m/min, Efficiency = 85%, Sliver hank = 0.1857

(a) State different types of combing with values of % noil.
OR

(a) State the objects of comber.

(b)  Write the limitations of conventional sliver lap and ribbon lap sequence.
OR

(b) State the importance of comber preparation.

(c) Write in brief about sliver lap machine.

OR
(c) Write in brief about super lap former machine.
(d) Give reason - Even number of machines are required between card and
comber.
OR
(d) Explain in brief nipper movement in comber machine.

(a) Draw neat sketch showing the passage of material on speed frame.
OR
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Explain in brief builder motion on speed frame.
Explain the principle of twisting and winding in speed frame.
OR
Explain with neat sketch the SKF drafting system used in speed frame.
Explain with neat sketch combing cycle.

Calculate the production of speed frame in kg/shift from the following data:

Flyer rpm = 1300, T.M. = 0.95, Roving hank = 1.7316, Efficiency = 85%, No.

of spindles = 132

Calculate the production of comber machine in kg/shift from the following
data:

Nips/min = 300, Feed/nip = 4.5 mm, Efficiency = 90%, % Noil = 12%,
Comber lap hank = 0.01578, No. of heads = 8

List modern developments in comber.

Write short note on “Latest technological changes in speed frame”.
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